


MISSION SELECTION – SSC 2024

Q.1 Statements: 1. No garden is a park. 

2. Some gardens are schools. 

Conclusions: I. No park is a garden. 

II. Some schools are gardens. 

III. Some parks are gardens.

(A) Either conclusion I or III and conclusion II follow. 

(B) Only conclusion II and III follow. 

(C) Only conclusion I and II follow. 

(D) Either conclusion I or III follows
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Q.2 A – B means ‘A is the sister of B’/ A – B का अर्थ है 'A, B की बहन है'

A × B means ‘A is the husband of B’;/ A × B का अर्थ है 'A, B का पति है';

A ÷ B means ‘A is the son of B’/ A ÷ B का अर्थ है 'A, B का पुत्र है'

If Y × M− T − Z ÷ L × U is true then how is U related to Y?

Y × M− T − Z ÷ L × U सत्य है िो U, Y से कैसे संबंतिि है?

(A) Father-in-law 

(B) Mother-in-law 

(C) Father 

(D) Mother
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Q.3 Four number-pairs have been given, out of 

which three are alike in some manner and one is 

different. Select the number-pair that is different.

चार संख्या-जोडे तिए गए हैं, तजनमें से िीन तकसी िरह से 

समान हैं और एक अलग है। उस संख्या-युग्म का चयन करें 

जो तिन्न है।

(A) 31 : 214

(B) 37 : 256 

(C) 21 : 154 

(D) 39 : 270
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Q.4 Four words have been given, out of 

which three are alike in some manner and 

one is different. Select the odd word.

चार शब्ि तिए गए हैं, तजनमें से िीन तकसी िरह से 

समान हैं और एक अलग है। बेजोड शब्ि का चयन 

करें।

(A) Cancer 

(B) Asthma 

(C) Diabetes 

(D) Bone Marrow
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Q-5 How many triangles are there in the given figure?

िी गई आकृति में तकिने तत्रिुज हैं?

(A) 13 

(B) 15 

(C) 12 

(D) 14
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Q-6 In a certain code language, 'SPECIAL' is coded as 

'20176410213'. How will 'MACHINE’   be    coded    in      

that code language?

एक तनतिि कूट िाषा में, 'SPECIAL' को '20176410213' के 

रूप में कूटबद्ध तकया जािा है। उस कूट िाषा में 'MACHINE' 

को कैसे कूटबद्ध तकया जाएगा?

(A) 1324810155 

(B) 1424901056 

(C) 1424910156 

(D) 1524910146
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Q-7 Select the correct mirror image of the given letter 

cluster when a vertical mirror is placed on the right 

side of the cluster.

जब अक्षर क्लस्टर के िातहनी ओर एक ऊर्ध्ाथिर िपथण रखा 

जािा है िो तिए गए अक्षर क्लस्टर की सही िपथण छत् का चयन 

करें।

E W G Z M P K

(A)A

(B)B

(C)C

(D)D
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Q-8 Select the figure that can replace the 

question mark (?) in the following series.

उस आकृति का चयन करें जो तनम्नतलतखि श्ृंखला में

प्रश्न तचह्न (?) को प्रतिस्र्ातपि कर सकिी है।

(A)A

(B)B

(C)C

(D)D



MISSION SELECTION – SSC 2024

Q-9 Select the letter that will replace 

the question mark (?) in the following 

series.

उस अक्षर का चयन करें जो तनम्नतलतखि 

श्ृंखला में प्रश्न तचह्न (?) का स्र्ान लेगा।

A, J, E, L, I, N, O, P, U, ?

(A) R 

(B) W 

(C) K 

(D) B
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Q.10 . If in a certain code language ADVENTURE is 

written as BFYISZBZN then what will be code for 

COUNTRY in the same language?

यति एक तनतिि कूट िाषा में ADVENTURE को BFYISZBZN 

तलखा जािा है िो उसी िाषा में COUNTRY के तलए क्या कूट 

होगा?

(A) DPVOUSZ 

(B) DQXRYXF 

(C) EQWPVTA 

(D) BNTMSQX
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Q-11 Select the option in which the word pair   share 

the same relationship as that shared by the given pair 

of words.

उस त्कल्प का चयन करें तजसमें शब्ि युग्म ्ही संबंि साझा 

करिा है जो तिए गए शब्िों के युग्म द्वारा साझा तकया गया है।

Temple : Worship/ मंतिर: पूजा

(A) Church: Prayer 

(B) University: President 

(C) Golden Temple : Amritsar 

(D) Garden: Plants
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Q-12 Select the option that is related to the 

third number in the same way as the 

second number is related to the first 

number. 

उस त्कल्प का चयन करें जो िीसरी संख्या से उसी 

प्रकार संबंतिि है जैसे िूसरी संख्या पहली संख्या से

संबंतिि है।

3 : 51 :: 7 : ?

(A) 319 

(B) 609 

(C) 335 

(D) 679
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Q-13 What day of the week was 

on 29 June 2010?

29 जून 2010 को सप्ताह का कौन सा 

तिन र्ा?

(A) Sunday 

(B) Monday 

(C) Wednesday 

(D) Tuesday
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Q-14 Which of the following Venn diagrams best represents the 

relationship between the following classes?

तनम्नतलतखि में से कौन सा ्ेन आरेख तनम्नतलतखि ्गों के बीच संबंि को सबसे 

अच्छा िशाथिा है?

Lady Constables, Uncles, Mothers/लेडी कांस्टेबल, अंकल, मािाएं

(A)A

(B)B

(C)C

(D)D
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Q-15 Which two signs should be interchanged 

to make the given equation correct?

तिए गए समीकरण को सही बनाने के तलए तकन िो तचन्हों 

को आपस में बिला जाना चातहए?

14×3÷27+54–9=21

(A) × and ÷

(B) × and –

(C) ÷ and –

(D) + and -
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Q-16 Select the dice that can be formed 

by folding the given sheet along the lines.

उस पासे का चयन करें जो िी गई शीट को रेखाओ ं

के अनुतिश मोडकर बनाया जा सकिा है।

(A) Only A

(B) Only B and D 

(C) Only A and B 

(D) Only A, B and C
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Q-17 Select the option in which the given 

figure X is embedded (rotation is not allowed).

उस त्कल्प का चयन करें तजसमें िी गई आकृति X 

अंितनथतहि है (रोटेशन की अनुमति नहीं है)।

(A)A

(B)B

(C)C

(D)D
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Q-18 Select the option in which the numbers 

are related in the same way as are the 

numbers in the given set. 

उस त्कल्प का चयन करें तजसमें संख्याए ँउसी प्रकार 

संबंतिि हैं जैसे तिए गए सेट में संख्याए ँहैं।

(22, 64, 352)

(A) (27, 52, 453) 

(B) (24, 16, 108) 

(C) (19, 52, 257) 

(D) (14, 68, 238)
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Q-19 In a certain code language, 'FIXATION' is 

written as 'AXIFNOIT'. How will 'GLYCERIN’   

be written in     that code language?

एक तनतिि कूट िाषा में, 'FIXATION' को

'AXIFNOIT' के रूप में तलखा जािा है। उस कूट िाषा में 

'GLYCERIN' को कैसे तलखा जाएगा?

(A) CYLGNIRE 

(B) NIRECYLG 

(C) LGZDGINR 

(D) YLGECRNI
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Q-20 The  sequence   of   folding  a   piece  of   paper   and   the   manner in 

which the folded paper has been cut is shown in the following figures. 

How would this paper look when unfolded?

कागज के एक टुकडे को मोडने का क्रम और मुडे हुए कागज को काटने के िरीके को 

तनम्नतलतखि आंकडों में तिखाया गया है।खोलने पर यह कागज कैसा तिखेगा?

(A)A

(B)B

(C)C

(D)D
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Q-21 Four letter-clusters have been given, out 

of which three are alike in some manner and 

one is different. Select the odd letter-cluster.

चार अक्षर-समूह तिए गए हैं, तजनमें से िीन तकसी िरह से 

एक जैसे हैं और एक अलग है। त्षम अक्षर-समूह का 

चयन करें।

(A) AZ 

(B) LO 

(C) GT 

(D) KN
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Q-22 Study the given pattern carefully and select the number 

that can replace the question mark (?) in it.

तिए गए पैटनथ का र्धयानपू थ्क अर्धययन करें और उस संख्या का चयन करें 

जो इसमें प्रश्न तचह्न (?) को प्रतिस्र्ातपि कर सके।

(A) 20 

(B) 24 

(C) 22 

(D) 26
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Q-23 Arrange the following words in a logical and 

meaningful order. 

तनम्नतलतखि शब्िों को िातकथ क और सार्थक क्रम में 

व्य्तस्र्ि करें।

1. Casting 

2. Acting 

3. Film Shooting

4. Final Film 

5. Editing
(A) 4, 3, 5, 1, 2 

(B) 3, 2, 1, 4, 5 

(C) 3, 1, 2, 5, 4 

(D) 1, 2, 3, 5, 4



MISSION SELECTION – SSC 2024

Q-24 Select the number that can replace 

the question mark (?) in the following 

series. 

उस संख्या का चयन करें जो तनम्नतलतखि श्ृंखला

में प्रश्न तचह्न (?) को प्रतिस्र्ातपि कर सकिी है।

39, 50, 63, 80, ?, 122, 147, 176

(A) 90 

(B) 108 

(C) 99 

(D) 105
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Q-25 ‘Photoshop’ is related to ‘Software’ in the 

same way as ‘Optical Mouse’ is related to ‘_____’.

'फोटोशॉप' 'सॉफ़्ट्ेयर' से उसी प्रकार संबंतिि है जैसे 

'ऑतटटकल माउस' '_____' से संबंतिि है।

(A) Hardware 

(B) Touch- screen 

(C) Malware 

(D) Hard – disc






